Copyright Lappset Group Ltd

SLAPPSET.

AXIOM

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

REF: 160005
DATE: 2.11.2010

160005




Copyright Lappset Group Ltd

% LAPPSET.

160005

AXIOM REF: 160005
DATE: 18.5.2010
700384 PCS 700929 |pcs 701020  |pcs 701081 PCS 701082  |pcs 901486 |pcs
3 3 3 1 1 1
@450x800
906503 |pcs 900721 PCS 901228 |pcs 901482 |pcs 901485 |pcs 900618 |pcs
6 3 1 1 1 3
O
M8x120 270x306x1206 205x180x155 205x180x257 M8x110
909876 |pcs 909628 |pcs 980150 |pcs 980151 PCS 980152 |pcs 702341  |pcs
1 33 6 12 1 1
®
M8x40 M10x100 M8 ?16/8.4 024 /8,4x2 90x50
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




Copyright Lappset Group Ltd

% LAPPSET.

160005

AXIOM REF: 160005
DATE: 10.11.2009
: 50
[
2
610
420 ! @
o o
5 3
2 Ko
o 3 610
Voom T
\__/ N
= 1030 =
2060
Safty surface
U o
........ LT T onReTE e s ]
T~ /
/00584 @12 1 90
/00929 \
M10x100
e o I
) o i
0
b




Copyright Lappset Group Ltd

% LAPPSET.

AXIOM

160005

REF: 160005
DATE: 2.11.2010

EN Impact Area 17.1 m2
Max falling height 1510 mm.

2510

2340

4730

4660




Copyright Lappset Group Ltd

B LAPPSET. 160005
AXIOM REF: 160005 6
DATE: 2.11.2010
DET 2 201082 DET 4 901482

901228

901486

901485




160005

% LAPPSET.

AXIOM

160005
2.11.2010

REF:
DATE:

ote: Installation.

Hox! Asentaessa

Horizontal dividing joint.

jakosauma.

DET 2 — 5

700384

p17 dnous 3jesddor yybrihdon





